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viral load

Pearsonr

r 0,4896
-0,03029 to

95% confidence interval 0,8010

R squared 0,2397

P value

P (two-tailed) 0,064

P value summary ns

Significant? (alpha = 0.05) |No

Number of XY Pairs 15

B

Pearsonr

r -0,1514
-0,6159 to

95% confidence interval 0,3912

R squared 0,02292

P value

P (two-tailed) 0,5902

P value summary ns

Significant? (alpha = 0.05) |No

Number of XY Pairs 15

C

Pearsonr

r 0,01467
-0,5014 to

95% confidence interval 0,5230

R squared 0,0002153

P value

P (two-tailed) 0,9586

P value summary ns

Significant? (alpha = 0.05) |No

Number of XY Pairs 15




viral load

Pearson r
1.5+ . r -0,05707
> -0,5532 to
© . 95% confidence interval 0,4689
g 1.0 R squared 0,003257
2 o
g P value
= 0.5 o P (two-tailed) 0,8399
x °® o P value summary ns
0.0 o °® ° ° Significant? (alpha = 0.05) |No
0.0 0.5 1.0 1.5
viral load Number of XY Pairs 15
E
8_
> ¢ Pearson r -0,06241
T 4. -0.5570 to
5 o o 95% confidence interval 0.4648
g 4 °® e © P value (two-tailed) 0,8251
2 ° ° P value summary ns
0 ° Is the correlation significant? [No
Q 27 ° R squared 0,003896
n
0 . . . Number of XY Pairs 15
0.0 0.5 1.0 15
viral load
F
Pearson r
67 r 0,2078
- ) -0,3407 to
= 95% confidence interval 0,6508
g 4+ . R squared 0,04319
= o
S P value
o 21 ° ¢ P (two-tailed) 0,4573
'5._:" ° ¢ P value summary ns
° Significant? (alpha = 0.05) |No
O T T T
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TBK1 densitometry

pTBK1 densitometry

Pearsonr

r -0,2442
-0,6724 to

95% confidence interval 0,3064

R squared 0,05963

P value

P (two-tailed) 0,3804

P value summary ns

Significant? (alpha = 0.05) |No

Number of XY Pairs 15

H

Pearsonr

r 0,3521
-0,1954 to

95% confidence interval 0,7323

R squared 0,124

P value

P (two-tailed) 0,1981

P value summary ns

Significant? (alpha = 0.05) |No

Number of XY Pairs 15




